Name:

Word Problems - Addition Sums to 10 Boom Cards

Create an equation and solve it.

1. b

Lily had 6 crayons, and her

teacher gave her 4 more. How
many crayons does Lily have

\Equa‘rion: ( )«( )=( ]/
- 5 ~

Lucas has 7 toy cars, and his

sister gave him 2 more as a

gift. How many toy cars does
Lucas have now?

Equation: (
.

-0

5.

Tim has 2 marbles, and his
friend gives him 8 more. How
many marbles does Tim have

in total?

| Equation: ( )« )=( ]}

e ™
2.
There are 6 colorful balloons
in one bunch and 3 balloons in
another. How many balloons
are there in total?

\Equaﬁon: ( )+« J)=( ]}

e 4 N
Ava found 8 seashells on the
beach, and her brother found
2 seashells. How many
seashells did they find
together?

\Equa‘rion: ( )+( ): ( )j

6.

There are 3 blue blocks and
some yellow blocks. If there
are a total of 10 blocks, how
many yellow blocks are there?

 Equation: ( )+« )=( ]/
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Create an equation and solve it.
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1.

There are 7 birds sitting on

a tree branch. 2 more birds
come and join them. How many
birds are on the branch now?

4 3 )

There are 9 fish in a pond. 1
more fish is caught by a
fisherman. How many fish are
there now?

\Equa‘rion: ( )+( ): ( )/

Equation: (
.

-0

5.

There are 6 butterflies flying
around the garden. 2 more
butterflies join them. How

many butterflies are there

now?

\Equa‘rion: ( )+( ): ( )}

2.

Maria has 4 teddy bears, and
her brother gives her 3 more
as a gift. How many teddy
bears does Maria have now?

\Equaﬁon: ( )+( ): ( ))

s 4 A
Alex has 5 toy blocks, and he
finds 4 more blocks in the toy
box. How many toy blocks does
Alex have now?

\Equa’rion: ( )+( ): ( )j

6.

Julia has 6 crayons, and her
friend lends her 3 more
crayons. How many crayons
does Julia have to use?

\Equa‘rion: ( )+( )
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